O &REE (1 2#F)

1cm

50cm

3

= = {42 BPARN Py

ot B | BXE [ B | BAE | BME | SAE | PORAESR | RA b

EERER 0.06 0.06] 007 006 00/7Bm 10
MAREE 0.05 . 0.05 0.1 0.05 0.09[7 5 > ami 12
EIJL% BE 0.04 0. 0.04 0.05 0.04 0.05| 5 &P 1
R REE 0.05 0. 0.05 0.05 0.04 0.05| 7 &Fh 7
AHREE 0. 06 0. 0. 06 0.07 0. 06 0.07| 2 &Fh 10
7(53 BE 0.05 0. 0.05 0.05 0.05 0.05[1 O FR 10
INEFYAILEEE— 0.05 0. 0.05 0.05 0.05 0.05[1 OB FR 10
BEREE 0.04 0. 0.04 0.05 0.04 0.05| 5 &P 6
THREE 0.04 0. 0.04 0.05 0.04 0. 05| 6 FHFh 16
BEHRAEE 0.03 0. 0.03 0.03 0.03 0.03[ 1 O&HFR 10
EHFREE 0.05 0. 0.05 0. 06 0.05 0.06| 2 &k 11
AR REE 0.05 0. 0. 05 0. 06 0.05 0.06] 4 &HFh 8

117




